	

	Topic/Objective:  More Triangle Proofs
	

	Essential Question:   When given a congruence statement about two triangles how can you use CPCTC? 

	

	Consider the figures below with 
[image: ]
List the congruency statements about these triangles.


Now consider the following theorem.
_________________
_____________________________________________________
Quick Write.
When given a congruence statement about two triangles, how can you use CPCTC?
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Quick Write:
How can rigid motion(s) be used to determine congruence?



By definition, two figures are __________________ if and only if there exists one, or more ______________ _________________ which will map one figure onto the other.
[image: ]
What rigid motion maps  onto ?
Justify the use of the SSS Congruence Postulate to prove that 
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Find a rigid motion that will map  onto 

[image: ]
a. Suppose that and  Justify the use of the SAS Congruence Postulate to prove that .



b. Suppose that your friend suggests a translation as the rigid motion that maps  onto   Is your friend correct?  Justify your answer.

[image: ]
Find a combination of rigid motions that will map  onto  and determine if 










Your turn:
[image: ]
[image: ]
Use Triangle Congruence to find missing variables.
Find the values of x in order to prove that the two triangles are congruent by the SAS Congruence Postulate.  Justify your work.
[image: ]


Find the value of y in order to prove that the two triangles are congruent using the ASA Congruence Postulate.  Justify your work.
[image: ]


Find the values of x and y that prove the two triangles are congruent using the SSS Congruence Postulate.
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Your turn:
1. Find the values of x and y that prove the two triangles are congruent using the AAS Congruence Theorem.  Justify your work.
[image: ]
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2.  
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	Summary:
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a. Complete the following two-column proof.

Statements Reasons

1. mzA = meD 1. Given

2.AP =DQ, AB = BC = (D 2. Given

3. 3. Segment Addition Postulate
4. AB + BC = DB 4.

5. 5. Transitive Property

6. A CAP =A BDQ 6.

7. 7.CPCIC

8.BM =CM 8.
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Given: KM L DF and KM bisects DF
Prove: KD =KF
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Which of the following rigid motions will map a TOY onto
A KIA? Select all that apply.

o

o
o
o
o

A reflection over the y-axis

A rotation of 270° clockwise about the origin

The translation (x,y) = (x + 5,y — 1)

A reflection over the line y = —x followed by a rotation
of 180° clockwise about the origin

The translation (x,y) = (x = 5,y + 1) followed by a
rotation of 90° counterclockwise about vertex ¥
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x=3

2x—-7
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Part A: 1 PQ = TS and PQ Il TS, which triangle congruency
postulate can we use to determine APRQ = ATRS
given the information on the figure? Select all that
apply.

O AAS
O ASA
O SAS
[
O SSA

Part B: What are the values of x and y?
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Let’s Practice

1. Consider the diagram to the right.

Given: 4H = KH; HW bisects LAHK

Prove: £A = /K

A w K

Complete the following two-column proof.

Statements Reasons
1.4H = HK 1. Given
2. HW bisects ZAHK 2. Given

3. LAHW = tKHW

4. HW = HW

5.AAHW = AKHW

6. LA= LK

3. Definition of angle bisector
4. Reflexive Property
5.

6.
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Given: £PTS = £PLE
AP bisects £TAL

Prove: AL = AT





